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FIRST REVISION TEST - 2024 Exam No. ]
Time : 3-00 Hours ' ):; - Euﬁlp‘TE'ﬁS Marks » 100‘J
PART-I

Note : 1) Answer all the qucstiohs. 2) Choose the correct answer. (14x1=14)

1. If 3:{(1,1), 2, 3), (3, 5), (4, 7)} is a function given by g(x)=aux+p then the values of «
and f} are

1) (-1, 2) - 2)(2,-1) 3) (-1, -2) 4)(1,2)

The range of the relation R={(x, x?) | x is a prime number less than 13} is

1){2,3,5 7y 2){2,3,57,11} 3){4,9, 25, 49, 121} -4)-{1, 4,9, 25, 49, 121}
3. The remainder when 7x13x19x23x29x31 is dividend by 6 is

n

1 _ 2)-1 . 30 4)6
4. If A=2% and B=26442634.0624 +2° which of the following is true?

1) B is 2% more than A 2) A and B are equal

3) B is larger than A by 1 4) Ais larger than B by 1
S.  If (x-6) is the HCF of x2-2x-24 and x?>-kx-6 then the value of k is

1)3 _ 2)5 . 3)6 4) 8
6. The non-diagonal elements in any unit matrix are _

1 2)0 3)-1 4) 2

7. No tangent can be drawn from of the circle
a) Interior point ~ 2) Exterior . 3) A.point on the circle 4) A point on the perimetre
8. (1+tanB +secB)(1+ cotb-cosecd)isequalto
1) 0 4 2)1 - 3)2 4) -1
9. In a hollow cylinder, the sum of the external and internal radii is 14cm and the width is
4cm. If its height is 20cm, the volume of the material in it is '
1) 5600ncm? 2) 1120rcm? 3) 56ncm? 4) 3600ncm?
10. +The height and radius of the cone of which the frustum is a part are h, units and r; units
respectively. Height of the frustum is h, units and radius of the smaller base is r, units. If
h,:h,=1:2 then r,:r, is

1) 1:3 D12 ©3)2:1 4) 3:1
11. The sum of all deviations of the data from its mean is :
1) Always positive 2) Always negative 3) Zero 4) Non-zero integer

12. The probability a red marble selected at random from a jar containing p red, q blue and
r green marbles is A fo
-9 p P+q P+t
1) p+qg+r 2) p+q+r 3) p+q+r - 4) p+q+r
13. A straight line has equation 8y=4x+21. Which of the following is true
" 1) The slop is 0.5 and the y intercept is 2.6 2) The slop is 5 and the y intercept is 1.6
3) The slop is 0.5 and the y intercept is 1.6 4) The slop is 5 and the y intercept is 2.6
14. A man walks near a wall, such that the distance between him and the wall is 10 units.
Consider the wall to be the Y axis. The path travelled by the man’is. '
1) x=10 2) y=10 . 3)x=0 4) y=0
_ . . PART - II
Note: Answer any 10 questions. Question No.28 is compulsory. (10x2=20)
15. Find k if f o f(k)=5 where f(k)=2k-1. .
16. A man has 532 flower pots, He wants to arrange them in rows such that each row contains
" 21 flower pots, Find the number of completed rows and how many flower pots are left over.
17. = Find the number of terms in the A.P. 3, 6, 9, 12,......, 111
18. Find the LCM of each pair of the following polynomials
' (i) a* + 4a - 12, a?- 5a+6 whose GCD is a -2. ,
19. Find two consecutive odd positive integers, sum of whose squares is 290. ?
20. - If the difference between the roots of the equation x?-13x-+k=0is 17 find k.
21. An artist has created a triangular stained glass window
and has one Strip of small length left before completing .
the window. She needs to figure out the length of left
our portion based on the lengths of the
other sides as shown in the figure. A 3om E 4an C
22, If the three points (3, -1), (a, 3) and (1, -3) are collineay, find the value of a.
23.  Find the equation of a line which passes through (5, 7) and makes intercepts on the axes

equal in magnitude but opposite in sign. = 10-Maths-1
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Answer all the questions.
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PART -~ I1I iy’
- Anewer any 10 questions. Question No.42 is compuisory. (10x5=50)
Lot A={x « N | 1 y < ‘:'}' I _‘-".', 3 \"J:.\‘. e 2\ and C= {x ¢ :‘, X< 3) then 'v‘ﬁ?"f'ﬂ st
A x (B.C) = (AB) s (M),
'} ‘V‘l.‘ﬂvf‘l'_\,". {:[-5,9]+ R is \'.‘tt'.‘:ré"":‘ﬁ as follows.:
. (6"&‘ 1 -Sex<
fix) = < Syi-1 ; 2ex<h
L3x4 ;69 (-2 -1(8)
(D) /(7) - K1) (ii) 2(4) + (8) () f(4)+1(-2)

A contract on construction job speafies a penalty for delay of compietion beyond a certan
date as follows: Rs. 200 for the first day, Rs. 250 for the second day, Rs. 300 for the third day,
etc., the penalty for each succeeding day besng Rs. 50 more than for the preceding Cay. How
much maney the contractor has to pay as penalty, if he has delayed the work by 30 cays?

Find the sum of 157+16%+17%4.....+28°

vani, her father and her grand father have an average age of 'S3. One-haif of her grand

father's age plus one-third of her father’s age plus one fourth of Vani's age is 65. Four

years ago If Vani’s graradfather 2\*,%5 four times as old as Yani then how oid are they afl now?
(1 2) g [40) |

T Sl VI A O A ¢ 2} show that (i) A(BC) = (AB)C.

State and prove Thaies theorem. -
Two trains leave a railway station at the same time. The first train trevels due west and the

second train due north. The first train travels at a speed of 20km/hr and the second train
wravels at 30km/hr. After 2 hours, what is the distance between them?

Let A3, —4), B(S, 4), C(5, -7) and D(7, -7). Show that ABCD is a trapezium.

Find the equation of the perpendicular bisector of the line joining the points A(-4, 2)
and B(€, 4). .

A pole Sm high isﬁxedonthetopofatg\ver.ﬂveangleofe&evationofmetopdmemée

observed from a point ‘A’ on the ground is 60° and the angle of depression to the point'A'
from the top of the tower is 459, Find the height of the tower. (V'3 =1.732)

Seenu’s house has an overhead tank in the shape of a cylinder. This is filled by pumping
wates from a sump (underground tank) which is in the shape of a cuboid. The sump has
dimensions 2mx1.5mx1m., The overhead tank has its radius of 60cm and height 103cm.
Find the volume of the water left in the sump after the overnead tank has been compietaly
filier water from the sump which has been full, initially.

If Gr*s 12574 284 +ax+ b is a perfect square, find the values of a and b,

1 Lox containg 90 discs which are numbered from 1 to 90. If disc is drawn random from
the brox Tind the probability then it bears a two digit number or a number divisidie by 3.

PART - IV
(2N 8=18)}
) Construd a Uiangle similar to a given triangle ABC with its sides equal to of the
conespunding sides of the triangle ABC (scale factor 6/5 >1).
i) Lraw o trangie ABC of base BC=8cm, ~A»60° and the bisector of JAmeets BC QD
such that BD«6cm.

2} The toliwning teble shops Lhe o of Qipe ang (he tne LRRea i fill
the same Lank, N, of pipes (0 i F,*_ 31 6 1 3 |
' firme Labon {in i) (Y] 45 ia 15 10|

Draw the graph for the abovt dala and hence

{13 Fired the Vs Loked 1o il the tank when frvw pipes ate wsexd ’
(1) Find the number of pipes when the trme is 9 mondes (OR}
b) Uraw the graph of y=x Sx- 6 and hence soive 2™ Hx- 1=, ()
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